> A
A & 0l & AF 2 E A A
20208 & =0l & LBHSIH = MO E It
2AM: ST AN
MY CNEENY
chelt A (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S A Dt 52,652,959 37,324,540 15,328,419
= 14,587,400
s 18,014,000
= 7,762,480
s 12,289,079
SASENE 20,628,920 31,201,940 A 10,573,020
s 14,901,000
[ia 5,727,920
S MY 20,213,960 23,731,460 A 3,517,500
s 14,501,000
s 5,712,960
S A 1,145,960 222,460 923,500
201 YEt2 Ayl 138,960 208,960 A70,000
01 At 22l 6,240 6,240 0
NENMINY Z2FE A2ERY
120,000& 12 1,440
NEAMNY SR HA
8,000 x6H 1002 4,800
02 232gHl 132,720 202,720 A70,000
NUegs 3= 270,000 «28JH 2=« 1201 & 90,720
NUHEgs X2l 1,500,000 #2874 2~ 42,000
202 044l 7,000 4,500 2,500
01 = LH o4 1l 7,000 4,500 2,500
NEMMNY Z2FE I
50,000& »7H »202] 7,000
203 &R = T Y| 8,000 5,000 3,000
03 MM Z=XH S =AY 8,000 5,000 3,000
Neiotgd e o aEEEs =& 8,000,000 8,000
401 AIEHI L 201 992,000 0 992,000
01 A& Bl 992,000 0 992,000
Dol 2ol S2ZF S A 40,000,000& 40,000
ol tHael HYEX 248 30,000,000 30,000
N UIEE 2% STAY
200,000, 000& 200,000
Netx s &=a Jdla3A 80,000,0008 80,000
N=8 & g8 a5 | S=2EY A
HAAS 50,000,000& 50,000
NHls S0 d=& 9 228 ZHAY
400,000,000& 400,000
NES&D S 2l 5,000,000 =144 & 70,000
NXE NAUNESHE SsSE S (HYABEX
)3 M 72,000,000& 72,000
N2 =X S2E SZAY 50,000,000& 50,000




2N
CENSENY

el

X ZH
S =

SN

SN

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEENXNGMLAML(EE) 15,501,000 14,747,000 754,000
s 14,501,000
s 1,000,000
401 Al HI K 201 I 15,501,000 14,747,000 754,000
s 14,501,000
s 1,000,000
01 A& Bl 15,462,000 14,714,000 748,000
NEZSTX SN L AL 14,468,000, 000& 14,468,000
s 14,468,000
NEEFHURNSNLXE A 994,000,000 994,000
03 Al 2 THHI 39,000 33,000 6,000
NEAESTXSENL AL 33,000, 000& 33,000
s 33,000
NEEFHURNSNLXE A 6,000,000 6,000
FoHAAG(=UEA) 3,567,000 8,572,000 25,005,000
401 AIEHI L 2CHEI 3,567,000 8,572,000 25,005,000
01 A& HI 3,567,000 8,572,000 25,005,000
NAE E2 ISt S22 F L 23 A
30,000,000& 30,000
NXSE WeotE ot SEZ A 25,000,000 25,000
NXE 2317 02z T & =23yl
20,000,000& 20,000
NXE ofe27 ottt S22 LA
20,000,000& 20,000
NXE S&0ts EA EI872E2E EXAY
15,000, 000& 15,000
NXE GtEOtS =2 & H| 20,000,000& 20,000
NXE Scle? &% =2 HHAY
20,000,000& 20,000
NS S2l57 =2 MAHAZY 20,000,000 20,000
NXE 2H37 Ot =2 i
10,000, 000& 10,000
NAE Usel B2 8¢ L =23 At
20,000,000& 20,000
NXE EtS27 WE0tSotd B3 At
20,000,000& 20,000
Nl =242 0tsSot 22X FIA
20,000,000& 20,000
Nl DI =T HH2X AIES3A
20,000,000& 20,000
Nl HEE M2 FHIAY
15,000, 000& 15,000
N Algeel a2 X3 A 20,000,000 20,000
NS +2 ATIFE 2 LAY L2
S E S A 20,000,000& 20,000




2N

S MIONE Dt

MY CNEENY
oS ST MY (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

NgH Hale 858 23 2424

20,000,000& 20,000
Nt s2el JHsSE Y =23 A

15,000, 000& 15,000
ol Z2eel WA L SIHS A 20,000,0009 20,000
kol CHE 12l B0 H S A 15,000, 000& 15,000
Nl sAMel =2 -3 A 25,000,0009 25,000
Dol Alg2el AL XS A 20,000,000& 20,000
kol stwel HAHEX S A 20,000, 000& 20,000
kol ~tel otSetd I3 A

20,000, 000& 20,000
ekol tHEzel o022 Ul S A

25,000,000& 25,000
N o1l (S20t2) =2 SX3 A

15,000, 000& 15,000
Nt 2022l (&D10tS) HH==HA A Y

10,000, 000& 10,000
1ol s i =101 3 A 10,000, 000& 10,000
kol AlE32l B0 H AN 20,000,000& 20,000
Neol &332l &ts4-1 A 20,000,000& 20,000
kol A2 =2 &XI3A 30,000,0008 30,000
sl =22l =2 JHBI3AF 20,000,000 20,000
Neol Swel =2 FdIa3AF 20,000,0008 20,000
Nl =02 HdAEE &X

30,000,000& 30,000
N 2&=~22 tis==2 &x 20,000,000& 20,000
NEE YE27 S8 &EX3A 20,000,000& 20,000
NS ZS0t2 27 =8 Jead

10,000, 000& 10,000
NI SL0IS HAHAE S A 25,000,000& 25,000
DX A0S HHAAE S A 25,000,000& 25,000
NI ZAOIE SIS A 10,000, 000& 10,000
DX THII0tE HAAME S A 25,000,000 25,000
N ==0ts ot =23 At

10,000, 000& 10,000
NYX A0S SSFANE IXRI| ALY

5,000,000& 5,000
DX ZA0IS HHAAE S A 20,000,000& 20,000
Y ZA0E =2 HulAY

25,000,000& 25,000
NYX tHEel =2 FHI3A 20,000,0009 20,000
NYX 25 =2 ZFHISA 20,000,000& 20,000
1YX StR0tS HAHAE S A 15,000, 000& 15,000
DX thHolel =2 FHI3 A 20,000,000€ 20,000
DX BWADIS HHAE S A 20,000,000& 20,000




M TAMNEL
M TASENE

Selr SN

SA BB O () - MM - HES 0l &+ o4 il

1Y T&OE Kok AL

12,000,000& 12,000
DX HEDS HAAME S A 20,000,000& 20,000
DY OreE =2 FHI3 A 15,000,000€ 15,000
YR el erak XA 20,000,000& 20,000
NS ZHIS HHAAESA 25,000,000& 25,000
NS st20t2 WAL XA 10,000, 000& 10,000
NXe 28 =2 FUlAY 20,000,000& 20,000
NS 2202 =2 JUIAS

20,000,000& 20,000
NS 2ADI0t2 WAL XA 10,000, 000& 10,000
NS 008 ANUYZ ZTEIA

15,000, 000& 15,000
NS 2D ofset2l TE3 A 20,000,000 20,000
Nk A o2t HEZIA

20,000,000& 20,000
NS D& =2 FHlALg  20,000,0008 20,000
NS WA (FHOIS) Bi==HAA

15,000,000& 15,000
N 3=l =2 FHlALg  20,000,0009 20,000
N2 st2el =2 ZHlALg  20,000,0008 20,000
N s2el 84 dxAY 10,000, 000& 10,000
NS Aldel =2 FHIALY  20,000,000€ 20,000
NS s&kel HAE XA 10,000, 000& 10,000
XS 9IJl2l Bi42 HUIALY  10,000,0009 10,000
NXE KAzl HEALS(SH) LAY

20,000,000& 20,000
NS &30 M=K 89 HX3A

10,000,000& 10,000
N2 el 9644 A 20,000, 000& 20,000
NHl=a eairs =23 A 20,000,000& 20,000
Nl 2Z0ts stz &X 20,000,000& 20,000
nul2 =82l 1486 M A 20,000,000& 20,000
NHl2 sXI0tS ot & 20,000,000& 20,000
Nelg #oiote &2 2 & 20,000,000& 20,000
NHlI2 Ta0S ot 3yl 10,000,000& 10,000
NEl2 402 o2 JHul 30,000, 000& 30,000
NHI2 J1tole s2% % 20,000,000& 20,000
1NEI2 WE02 A el 20,000,000& 20,000
N2 stalR0tS Y723 10,000,000& 10,000
N2 AlE0tE 27 WA 20,000,000& 20,000
Nelg =gots HA 30,000,000& 30,000
N2 g&ots A 30,000,000& 30,000
1)8I2 LigHorS A 10,000, 000& 10,000
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S MIONE Dt

Hu: CNSENY
Sl T A (cHel ® Q)
SA- - H2A(3A) - MM - BES Off &t 24 %Ei Hnsz

B2 =0t Jhod 10000, 000 10,000
NEX LU0 =2l 20,000, 0008 20,000
NEX £2ZJ0I8 92 24 L HAZF|

20,000,000 20,000
NEE XL0HS o2 4241

20,000,000 20,000
NEX ZZ0tS 424 20,000, 0002 20,000
NEE 20IS 58 Z2AY 20,000,008 20,000
NEE DBOS FHAY 20,000, 0002 20,000
NEZ SS0tE 525 20,000,000 20,000
NEE QYN (021361 2HIHEZ Zl

=y 20,000, 0008 20,000
NEX 20 NRALIT ZX 2 AL
A0 BABA 20,000,000 20,000

NEE Sdel BY K 20,000, 0002 20,000
NEE S22l B W 30,000,000 30,000
NEX -2l 3F0e SHEX

30,000,000 30,000
NEE 252 YRS WA 20,000, 0008 20,000
NEE #0312 F5 HH 30,000,000 30,000
NEE 01852l ZHIA 20,000, 000! 20,000
NEE @8 228 2 30,000,000 30,000
NEE S2tel Y& H 10,000, 000! 10,000
NEE NL0S AAHY 20,000, 0002 20,000
NEE 2Y0S BUIAY 15,000, 000! 15,000
NEX Det0ts AR H 10,000, 0008 10,000
NEN MR EMBARY YIER 2B E

20,000, 0002 20,000
NS Kl21? BSA ZHTA 20,000,0008 20,000
NES W21? 2HS 22LY B A

20,000,000 20,000
E& 22 OIS0 2XBA

10,000,000 10,000
E& HE2l wSe MEX 20,000,008 20,000
NSa ZE2l 0HSOHY HEX  20,000,0008 20,000
NEN 2E17 ISEY BASSX

20,000,000 20,000
E& SIEHE 022 SHEBA 20,000,0008 20,000
DEA JIH127 A8 B2 W a4

10,000, 000! 10,000
&6 17 022 Lt X 2 A

20,000,000 20,000
NE& 2208 B2 FHIAY

20,000,000 20,000
NEN DBl BAE 21 B A

20,000,000 20,000
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M CASENY
chelt A (er:@e)
5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

NEA el EBE EX3A 20,000,000& 20,000
1)EA Otel s8&2 HAHIX 20,000,000 20,000
1)E 4 glel otd A5 Jul 20,000,000& 20,000
NEA A2l 7 A FHIS A 20,000,000 20,000
NEA AA2] S2E U3 A 20,000,0009 20,000
NEM HE2 OISO HTFBA

20,000,000& 20,000
NEAM &32 EXA &X 20,000,000& 20,000
NEA IDIAZ1R &HE HLS A

20,000,000& 20,000
NEA GIEIE F=H8E HAAY

20,000,000& 20,000
NEA 22|08 ST 2 HUISA

20,000,000& 20,000
NEA oicl17 022 HulSA

20,000,000& 20,000
NEA M2l 53 SFMEAY 20,000,000 20,000
NEA &el17 0t2 =2 FHIAY

20,000,000& 20,000
NEA 2a Ay HEH FHUAY

20,000,000& 20,000
1)6t2 8317 sl&sS MAHAIE 20,000,000 20,000
Note 217 Mael a2 HAAE

20,000,000& 20,000
1)ote s&H7 or2erZ 3l 20,000,000& 20,000
1ote tHot: sg92 =234l

20,000,000& 20,000
1ote thel1+ oSt =& 10,000, 000& 10,000
1ote o222+ o2 YE WA 20,000,0008 20,000
1)6te 2317 ot LE 20,000,000& 20,000
Nalel 22l 022 &I MY B3 A

30,000, 000& 30,000
NAe A5~z otx2 e L =X32

4 20,000,000& 20,000

Nee A&s ==& 20,000,000& 20,000
NAe S AIE Ha-EHIAE AL

30,000,000 30,000
Nao sts1I2(EE)H=2 HHAL

15,000, 000& 15,000
DA AN 228 =4 15,000, 000& 15,000
Nalo AS37 02 dYz2Ld

20,000, 000& 20,000
&S StES37(FS0S)MAHAE

20,000, 000& 20,000
Nale As2(2se)eoy B4

20,000, 000& 20,000
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X ZH
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S MIONE Dt

SN

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

Nale aAs17(otens)y Mgz sHULE

20,000,000& 20,000
Nael HA1? SE0 MY T

40,000,000& 40,000
1Nalo stsex(-20ts)otst2d 2 d

20,000,000& 20,000
NEL SEHZSX T =2 F ALY

20,000,000& 20,000
DNEA S0 HHAE S A 20,000,000& 20,000
NEA SEHe 022 ZTE S A

20,000,000& 20,000
N =S8t =Y =2 AL

20,000,000& 20,000
NN S~HA T2 I EIZ AL 20,000,000 20,000
N 48 02t =2 ALY

20,000,000& 20,000
N 2308 ¥ 22X & 20,000,000 20,000
1)etE Ot&lel & IANRI| S A

20,000,000& 20,000
1)erEt MAOLS ot S I IA

20,000,000& 20,000
Nerx AMEXF a2 JHIALS

20,000, 000& 20,000
1ot gtxiel Jt28 A& 3 A 20,000,0009 20,000
1ot =RANME2 TAHE HH ALY

20,000,000 20,000
et thel S8 &EXI3 A 20,000, 000& 20,000
et R2UXZ =2 ZUIZ2A

20,000,000& 20,000
1)erat orgel I 20,000,000& 20,000
NEZ2 20 0iserd ZI&H 2 HHBA

10,000, 000& 10,000
N2 Sl HASA 20,000,000& 20,000
NEH SAE STHARE MY2 WAL

20,000,000& 20,000
1NEH 5302 3H Z&EAY 20,000,000 20,000
NEH =20t2 =2 FHIALL

20,000,000& 20,000
NLEN Qa2 SEHBAL 20,000,000& 20,000
NEE Q427 OIS =2 FHIAIE

20,000,000& 20,000
TLE ZO0IS HHA 20,000,000& 20,000
NE S2OES Z22Y §F =2 ZHAY

20,000,000& 20,000
EN AIAOFSF R HAY 20,000,000& 20,000
NEE A=0t2 2L HUIAY 20,000,000& 20,000
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chelr S AN EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NEE DSOS =2 SHHAE
20,000,000& 20,000
EE &2l 1A 20,000,000& 20,000
NYEH QAP E2SEE 20,000,000& 20,000
B AFMO MG MIPEH
40,000,000& 40,000
NEE &2 HAHAIA 10,000, 000& 10,000
S ALTH 24 414,960 0 414,960
as 400,000
s 14,960
S AITH A 7,960 0 7,960
201 24l 1,960 0 1,960
01 At 2t 2l 1,960 0 1,960
DEATHY 42 28 428 2
1,000, 000& 1,000
NEAWY 2= 0HAH 88,0002 x2H 60 960
202 044l 6,000 0 6,000
01 SLHOIYI 6,000 0 6,000
NEANY FR2FZ S0
50,0003 »2H 602! 6,000
S AITH A X 2 4l E 7,000 0 7,000
201 L2l 7,000 0 7,000
01 At 2t 2l 2,000 0 2,000
NNREE S A28 7¢ 2,000,000& 2,000
02 =24l 5,000 0 5,000
Na323 2 HMA 5,000,000& 5,000
HMEUAHSE ST LML (ER) 200,000 0 200,000
s 200,000
401 Al HIZ 201 Y| 200,000 0 200,000
s 200,000
01 A& HI 200,000 0 200,000
NEAE TS o2g 24 ALY
200,000, 000& 200,000
as 200,000
HMEHZUS0IZELASE(EX) 200,000 0 200,000
s 200,000
401 Al HIZ 201 I 200,000 0 200,000
s 200,000
01 A& HI 200,000 0 200,000
NEAME A2UHS02 ZHAY
200,000, 000& 200,000
s 200,000




SH: SANLD
HE: HYRNOER

S TSGR

3

o

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
ol =&t &= XA S 30,648,419 3,728,800 26,919,619
= 14,587,400
= 3,113,000
== 7,762,480
= 5,185,539
EDSPNRS: DR 5,817,541 0 5,817,541
= 467,000
g 2,773,000
= 47,000
= 2,530,541
RS-l =y 23,400 0 23,400
201 gBt2Ay| 8,400 0 8,400
01 AFR 2t 2| H| 8,400 0 8,400
NX Y 2= A H 8,000 x5 +80L 3,200
NXYHY 28 AQE 22
100,000 x12& 1,200
NUBISAHENEAIY 22 SE72 L A
2,000,000& x23| 4,000
202 04| 15,000 0 15,000
01 2L I 15,000 0 15,000
NXYHY d2=& 20|
50,0008 x5H 60 15,000
HACUNE LA (EX) 2,773,000 0 2,773,000
g 2,773,000
401 AlEHIZL 2 0HY| 2,773,000 0 2,773,000
= 2,773,000
01 Al&H| 2,766,068 0 2,766,068
NHISH AFL HEINLAS
580,545,000& 580,545
g 580,545
UYEHH AU HEINLAS
504,735,000& 504,735
Fag 504,735
1)E A &gl A HEINLAY
1,182,038,000& 1,182,038
Fag 1,182,038
1)ote =2 AU HEIMNLAY
498,750,000& 498,750
Fag 498,750
03 AlE 201 | 6,932 0 6,932
NH2H A HEIMNLAY 20|
1,455,000 1,455
Fag 1,455
1)UENH HAC HEIRLAY 20|
1,265,000 1,265
Fag 1,265




SH: SANLD
HE: a0l ER RS

Chel: S AN (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
NEd Aol Aocs AZNLAY S0l
2,962,000 2,962
s 2,962
1)otel 832 AL HEIMNLAMY 20l
1,250,000& 1,250
s 1,250
DISHASSIHL A (&) 2,507,141 0 2,507,141
401 Al I 28I 2,134,284 0 2,134,284
01 A& HI 2,134,284 0 2,134,284
N2 sS4 0IS¢49 SsHgAd
338,571,000 338,571
Nelo 9 0249 SsigAad
581,428,000 581,428
NEx 2011 0ISH? SSHLAS
714,285,000 714,285
1)orEL Xtehiel OtE2 ¢Sl SSHgA e
250,000,000 250,000
N2 =X 0249 SstHgAad
250,000,000 250,000
403 X EHHS K201 A 372,857 0 372,857
02 BJ12SH st E 2 EAS I 372,857 0 372,857
NEL ol OI2¢? SstHgAd
372,857,000 372,857
MEDISAI (BX) 514,000 0 514,000
= 467,000
< 47,000
401 AIEBIZ 2018 514,000 0 514,000
= 467,000
= 47,000
01 A& Bl 514,000 0 514,000
ol Jretel ME0tS ALY 514,000,000& 514,000
= 467,000
< 47,000
=0 g 24,830,878 3,728,800 21,102,078
= 14,120,400
s 340,000
< 7,715,480
fia 2,654,998
HEAHE 71,600 64,800 6,800
201 £B-2dH| 14,100 10,300 3,800
01 At 22l 14,100 10,300 3,800
NHENE 28 AL
8,000& 1003 *3H 2,400
NHENE HLFF 28 2Y
100,000& =128 1,200




SH: SANLD
A MO ERA S
Sel: ofE0fE (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
N32Us 3L ¢ 2 M
25,000 2005 5,000
NESE MU UREE 5,500,000& 5,500
202 oddl 7,500 4,500 3,000
NETTT 7,500 4,500 3,000
NHENE F2FE S0
50,0003 x3Y x50 7,500
401 Al B2 28I 50,000 50,000 0
01 A& tI 50,000 50,000 0
NAEESX2eld (280 2 HEANEE)
5,000,000 *100H 2 50,000
HOLHHIAI (B X) 718,398 1,714,000 A 995,602
s 340,000
e 378,398
401 Al B2 28I 718,398 1,714,000 A 995,602
s 340,000
i 378,398
01 A& HI 714,818 1,702,800 A 987,982
NHIDEX R A HIALS 199,300, 000& 199,300
s 199,300
OIS X7 AHEHIALY 139,300, 000& 139,300
s 139,300
NREX 7 AHTHIALY 376,217,546 & 376,218
03 Al 2 HHI 3,580 11,200 AT7,620
NDHDEX R A YA 1,000, 000& 1,000
as 700
i 300
O X 7 A HIALY 1,000, 000& 1,000
s 700
s 300
NREX 2 AHHHIALY 1,579,721& 1,580
NEAHASALAIS (M EH) 5,625,000 1,125,000 4,500,000
< 4,500,000
i 1,125,000
401 Al &I 28I 5,625,000 1,125,000 4,500,000
< 4,500,000
= 1,125,000
01 A& HI 5,611,000 1,116,900 4,494,100
NDXLHESALMS (=UE) 2,369,000,000% 2,369,000
< 1,895,200
s 473,800
NALHESAEAE (3E8)  2,120,000,000& 2,120,000
= 1,696,000
= 424,000
NDXYAHSALAIS (SHERE)  1,122,000,0002 1,122,000




2N S A0
= N e
S HENE (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 897,600
= 224,400
03 Al 2 0H I 14,000 8,100 5,900
NDXNYHEHALMS (=UE) 6,000,000& 6,000
= 4,800
[ia 1,200
NXNYAHSALEAMNS (B EF) 5,000,000& 5,000
= 4,000
e 1,000
DXL AHE AL AL (SHEHE) 3,000,000& 3,000
< 2,400
[ia 600
HESLY300AIS (B X) 16,665,880 0 16,665,880
= 14,120,400
< 1,815,480
s 730,000
401 Al BIZ 201 8] 16,665,880 0 16,665,880
= 14,120,400
< 1,815,480
e 730,000
01 Al& Hl 16,628,750 0 16,628,750
1)2020 O &% E300AH S (&2l &)
3,748,550,000& 3,748,550
= 3,321,500
< 427,050
1)2020 O &% £ 300A S (Gt 2l &)
5,089, 180,000& 5,089,180
= 4,509,400
= 579,780
1)20209 O &% £ 300AH S (2HIHE)
2,743,670,000& 2,743,670
= 2,431,100
= 312,570
1)20201 Of & & Z300AH ! (M 21 &)
4,317,350,000& 4,317,350
= 3,825,500
< 491,850
120209 O &% £ 300A+ S 730,000,000& 730,000
03 AIE 2 0HHI 37,130 0 37,130
1)20209 O &% & 300At S (& el &)
8,690,000 8,690
= 7.700
< 990
1)20209 O &% £ 300At & (Gt =2l &)
11,850, 000& 11,850
= 10,500
< 1,350
1)20209 O &% & 300A+ S (2HIH &)
6,320,000 6,320




2AM: ST AN
X =L HENE S
S HENE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 5,600
< 720
1)20209 O &% £ 300A+ S (M 2 &)
10,270,000& 10,270
= 9,100
< 1,170
SEIIsST WX AAG (HEH) 1,750,000 625,000 1,125,000
< 1,400,000
s 350,000
401 Al HI YL 201 Y| 1,750,000 625,000 1,125,000
< 1,400,000
[ia 350,000
01 A& HI 1,744,000 621,000 1,123,000
NEEUIISEMDIIAANGE(BX)
1,744,000,000& 1,744,000
< 1,395,200
s 348,800
03 Al 2 THHI 6,000 4,000 2,000
NEEUIISEMDIIAANGE(BX)
6,000,000& 6,000
< 4,800
= 1,200
TEANLEHC2Y 1,358,620 2,377,200 A 1,018,580
rTEIA 1,358,620 2,377,200 A 1,018,580
THEAL 22 1,102,620 1,521,200 A 418,580
201 2et24d] 590,920 526,200 64,720
01 At 22l 2,920 4,200 A 1,280
naees #¢ 1,000, 000& 1,000
Nxgael g2FE HAH 88,0002 «3H «80Y 1,920
02 =24l 588,000 522,000 66,000
NsAHEINZS &2 26,000,000& x12& 312,000
NERF(EIRFE)HZ2S ®IIQS
12,000,000& = 12& 144,000
NASHEW Hes MI(SUN)23
1,000,000& * 1100 & 128 132,000
202 O4dl 10,000 20,000 A 10,000
01 = LH 4 Hi 10,000 20,000 A 10,000
nNxgae g2FE 2o
50,0003 x2H =100 10,000
401 A& HI K 2018 501,700 975,000 A 473,300
01 A& HI 500,000 973,300 A 473,300
NsHEIZESE RAES ALY
300,000,000& =14 300,000
NSAHTW Y EBHAE ZHAE B
2,000,000 *500H 2~ 100,000
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5 - 4
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
NE®: 128 LA A 500,000& »100S 50,000
NEAMH X2 Jt28 ANE WA ALY
50,000,000& =14 50,000
03 Al S THHI 1,700 1,700 0
NsHEIZE | ESAY 1,700,000 1,700
AL LR 250,000 600,000 /350,000
401 AIEHI L 2 CHEI 250,000 600,000 A.350,000
01 A& Bl 248,920 598,000 A 349,080
NsHEIZS AEAY 148,920, 000& 14 148,920
NEEZEIAE AEAYE 20,000,000 504 & 100,000
03 Al 2 0HHI 1,080 2,000 2920
NsHEIIZS AEAY 1,080,000& 1,080
2zt 6,000 256,000 A 250,000
201 €24 6,000 6,000 0
01 At 22l 6,000 6,000 0
AR ABSIRE ML
100,000& 6 103l 6,000
HE2LAZH (S AHL D) 17,000 16,600 400
2l 17,000 16,600 400
=&l 17,000 16,600 400
101 @14l 800 400 400
03 RIAHAZZRHE > 800 400 400
N8R 2FX FUHOHl 50,0003 »2H 8 800
201 ¢et24] 5,400 5,400 0
01 At 22l 5,400 5,400 0
NEASY AtR2t2lHI 300,000 »18H 5,400
202 044l 7,200 7,200 0
01 = LH o4 1l 7,200 7,200 0
NEM2Z IO 50,0003 x18H +83| 7,200
203 ¥ S =&l 3,600 3,600 0
04 FEANSEHE=LH 3,600 3,600 0
1)2521 01 &t 300,000& »12& 3,600




